Table S2

	
	Test Type 1
	Test Type 2

	Figure 2
	Sample 3
	Sample 2
	Reversing preference tests

	Figure 2a
	t=3.4;df=18, p=0.003
	t=5.7,df=16,p=0.0000
	t=6.6, df=34, p=0.0000

	Figure 2b
	t=4.6,df=24,p=0.0002
	t=7.29,df=17,p=0.0000
	t=8.1, df=41, p=0.0000

	Figure 2c
	t=5.5,df=15,p=0.0000
	t=6.3,df=16,p=0.0000
	t=7.9,df= 31, p= 0.0000

	Figure 2d
	t=8.01,df=16,p=0.0000
	t=5.45,df=15,p=0.0000
	t=9.3, df=31, p= 0.0000

	Figure 2e
	t=4.3, df=15, p=0.0006
	t=4.9, df=15, p=0.0002
	t=6.55,df=30, p=0.0000

	
	
	
	

	Figure 3
	Sample 3
	Sample 4
	Reversing preference tests

	Figure 3a
	t=3.86,df=32,p=0.0005
	t=1.26, df=34, p=0.21
	t=2.60,df =33, p= 0.014

	Figure 3b
	t=3.39,df=20,p=0.0029
	t=2.25, df=24, p=0.034
	t=2.51, df=22, p=0.020

	Figure 3c
	t=2.93,df=32,p=0.0062
	t=0.51, df=28, p=0.615
	t=1.68,df=30, p=0.1027

	
	
	
	

	Figure 4
	Sample 4
	Sample 5
	Reversing preference tests

	Figure 4a
	t=0.29, df=14, p=0.78
	t=0.38, df=14, p=0.72
	t=0.00023,df=28,p=0.999

	Figure 4b
	t=1.6, df=14, p=0.06
	t=1.61,df=14, p=0.06
	t=0.00, df=28, p=1.0000

	
	Sample 5
	Sample 6
	Reversing preference tests

	Figure 4c
	t=0.37,df=12, p=0.78
	t=0.76, df=11, p=0.46
	t=0.81, df=23, p=0.43

	Figure 4d
	t=0.00, df=11, p=1.0
	t=0.35, df=11, p=0.73
	t=0.25, df=22, p=0.80

	
	Sample 4
	Sample 6
	Reversing preference tests

	Figure 4e
	t=1.96,df=13, p=0.07
	t=0.00, df=12, p=1.00
	t=0.97, df=25, p=0.34

	
	
	
	

	Figure 5
	Sample 3
	Sample 2
	Reversing preference tests

	Figure 5a
	t=3.78, df=13, p=0.002
	t=1.2, df=13, p=0.25
	t=3.4, df=26, p=0.005

	Figure 5b
	t=2.3, df=9, p=0.004
	t=2.2, df=11, p=0.05
	t=3.2, df=20, p=0.004

	Figure 5c
	t=1.8, df=8, p=0.10
	t=1.54,df=12, p=0.149
	t=2.3, df=20, p=0.003

	Figure 5d
	t=3.1, df=11, p=0.01
	t=2.6, df=10, p=0,026
	t=3.8, df=21, p=0.001

	
	
	
	

	Figure S1
	Sample 3
	Sample 2
	Reversing preference tests

	Figure S1a
	t=5.49,df=16, p=0.000
	t=2.6,df=16, p=0.001
	t=5.4,df=32, p=0.000

	Figure S1b
	t=5.21,df=21, p=0.000
	t=6.3,df=18, p=0.000 
	t=8.3,df=39, p=0.000


